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IT-502 (GS)
B.Tech. V Semester
-xamination, November 2022
Grading System (GS)
Computer Networks

Time : Three Hours
Maximium Marks : 70

Note: 1) Answer any [ive questions.
fp=¢f afa we=t & gt Hifom
11) All questions carry equal marks.
ft wel & w9 I §
1) In case of any doubt or dispute the English version
question should be treated as final.
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1. a} Descnbe the OS] model along with functions of each
layer? Also give similarities and difterences of OSI with
TCP/IP protocol suite.
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by Explain LAN Communicatuon standards? Describe all the
techniques what should a station will do when the channel
is busy or idle.
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N
> a) The following is a dump of @ I'CP header in hexadecimal

formuat,
05320017 00000001 00000000 500207FF 00000000

1) What is the source port number?

it What is the destipation port number?
111} 'What is the sequence number?

v} Whatis the acknowledgment number?
v}  Whatis the length of header?

vi} What s the type of segment?

v} Whatis the window size?
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05320017 00000001 00000000 500207FF 00000000
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b) Explain the basics of Line coding in physical layer. Code
the binary stream 010011100 1n:

1}  Manchester scheme
1] Differential Manchester scheme
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3. a) CrcalelﬁsubnclfUrIPﬂddl‘ﬂss20{].I33.1?5.{),¢achwith
16 host (including all the reserved addresses), also
provide the addresses range of each subnet's hosts.
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b) Justify the need of ARP and RARP in data transfer. When
it is known that cach machine has its own unique IP

address? Given class C [P address 200.133.175.0. What
will be the default subnet mask for this address?
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4. Give the comparisons among the following:
a) Leaky Bucketand Token Bucket
b) Pure and Slated metal
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5. 4) What are the functionalities of Transport Layer? Give a
brief descnption on TCP and UDP header.
g A oloR & o 741 87 TCP 3R UDP 8= W |f&H

faa=or &)
b} Explain Routing Information Protoco! (RIP). How RIP
table get updated?
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Paplam the mcmics used in detenmining the best path for

A TOUTIE protocol
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Discuss vanous Network topologies Differentiate among,
star andfaeh topolopies
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A broadcast LAN that s 1two kilometers long and uses
CSMA/CID has a bandw idth of 107 bps. The speed of the
signal along the wire is 2> 10* metres per sccond What

is the smaliest size ol the packets that are allowed 1o be
sent over this network”?
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Explain any two shding window strategics. Also discuss
the usage of piggy backing in networking.
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Uaplain the following:

1) Working of DN& system
i) ’5

HTTP
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